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Part | : GENERAL MENTAL ABILITY TEST
Part Il :Language Comprehensive test
Part lll : Scholastic Aptitude Test

Part | : Time 45 minutes Max marks : 50
{For Physically Challenged group 60 minuts)
Part Il :
Time 45 minutes Max Marks 50
(For Physically Challenged Group 60 minutes)
Time 1% hours Max Marks 100
{For Physically Challenged group 2 hours)
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
answer the questions. Answers should be given on

a SEPARATE ANSWER SHEET :

1. Please write your Centre Code No. and Rall Nao.
very clearly (only one digitin one block) as given
in your Admit Card. No block Is left unfilled
and Zeros appearing in the Centre Code No. and
Roll No. are correctly transferred to
ihe appropriate blocks on the booklet and on the
Answer Sheet. For example, a student
appearing from the first centre of Lucknow for
{Centre Code No. D042) N.T.5. with Roll No.
7 will make entries as below :

State Conche Yoar Centre Code Boll Mo, Tn Fizures
E1E] o[o]<]2]

Your Centre Code Mo. and Roll No. shall
remain the same as given on your Admit Card.
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1.

12,

13.

o8 w¥ U3 3 wodl i R &) wem @
A AEfld dvgar 9dan 3 so ww €
i @vs, R sk 3l W & s0-50
grt & el 9 anaddl @) Bl oo & wmar
("= 3N) B awEl ) go w0 2 s
wve-3 1 wfrefa gden @ 100 we # aiw
Wi wwl B g den ¥

ol us= o -0 s B &)

wf g afwrl & s o A A gf @ 4

q-uF qga § W | add w5

TeM UE W AR @ AR U B 9E g
U, 3 O S ol |

Al ) RN 99 @1 IaR o w8, @
U GR AHG e e 3R el ueE ) uld
W a=en 3, a 99wl B, R e uged
TR B o o, g o wed ¥

WA ga & & forg fRar ww wwy Aife
R} | 3T TP THHT RN WG FEN AR |
@ A e W AfE W T ad |

e gRaw @ ora 3 AR vE 6 B B
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UTE T, 9P uEl B FEr et W R
FeoR—g=E 9 @ &

IoR wFE-dA e A faifa | ave |
g A e 9fee @ el § 9ER
#Hid 01 A 50 b aul @us Il # wrn G
qfiEmr & Uil & I BHiE 51 1 100 T
alv @vs 11 3 sfvefa aliem & ol & amR
HHIE 101 N 200 0F 1 2|

U® 99 & Unn oH ¥ & Al @ ™
fawal % 9wl Bew & den SER-9TE
i gw W @ A PeE 3§ e YR
form &v &1 24

45 firre R wa @ T apaedl @
mqmﬁ?(:ra“?zhginnrﬁwarﬁmllzh
o7 A An e 3 g o1 AW A g6
R 2| 45 frre (andiRe wu & gidiuw 3
fav 6o fre) @ wa wie v 1l 3 AR
sffea 3 ywil i IER 291 URm #R 3

4 g B IR A0 W e |

This test booklet is divided into three paris, Padt |
contains 50 questions of General Mental Ablity Tesl
Par Il is Language, contains 50 questions each ol
Hindi and English comprahansive Test in which
candidala is lo attempt only one language paper
either of Hindi or of English.Part 1ll contains 100
questions of Aptitude tesi, all the queslion is fo be
attempled.

3. All questions camy one mark each.

0.

1.

12.

Since all questions are compuisory, do nol spend

" time in reading through the whole queslion paper

before beginning to answer it,

Begin wilh the first queslion and keep cn irying
one questicn after another till you finish it.

If you do not know the answer to any question, do
not spend much time on il and pass on {o he nexi
one, If ime permits, you can come back to the
questions which you have left in lhe first instance
and Iry them again.

Since tha time allctied for the question paper s
very limited, you should make the besi usa of it by
nol spending tco much time on any one question

Blank pages have been provided for rough work al
the end of test booklels,

Remember, you have to mark answer on the
separale Answer Sheel

Angwer Sheel has three specific part ie. Pzt |, Part
Il and Part lll Candidate is 1o answer the question
of Part | (General Mental Ability Test) from serial no.
01 1o 50, Part-ll (language Comprehensive Test)
from serial no. 51 10 100 and Part-lIl (Aptitude test)
from 101 to 200.

Answer to each gueslion is o be indicated by
writing the number of the comect altemalive in the
answer sheet in the box provided against each
queslion.

Immadialely after 45 minutes (60 minules for
physically challenged group) you should start
attempting Part li language comprehensive lest
and immediately after 45 minutes (60 minutes for
physically challenged group) you should sian
atlempting part Il Aptitude Test.

. Now start answering the quaslions.

o g9 9w gR 3 Bre e dgpnie au w ord @ afiRaa o N o N 9 fafag)
NB Du r}?t.mﬂe anything except the Centre Code No., Roll Mo. and rough work, anywhere in the



GMAT - 2018
qug — | (Part - )
Mg AR aam odwe General Mental Ability Test

frder : 4T 1-6 9% TS UeH # = ug ¥ Direction : From question 1 to 6 each
1 & @ ug 30 1 {50 9 A 0 WIF  question has four options. Out of them three
;j‘? T‘;q“ m@?ﬁ ¥ et 2 W; options are alike and one is different from three
q< Bife Sud! fAee wen ; o
) others. Find out the correct one which is
I IR TP W WE UEE e & 9

P different from rest of the three-
1. {1} A .~ 1. (1) Red
2) frar (2) Yellow
{3) W (3) Pink
(4) Hram {4) Blue
2 (1) GIMR
2. {1) GIMR BIKMPT
(2) KMPT 3) JLOS
BALRR (4) DFIM
(4) DFIM
3. (1) RajyaSabha
3 (1) 9 W {2) Legislative Assembly
(2) Rems W (3) Lok Sabha
(3) @ (#) Supreme Court
(4) waten =T
4. (1) 2401
4. (1) 2401 () 625
@) 625 (3) 4095
(3) 4095 (a) 1296
{4) 1206

PNP-NTS-2018 (3) Contd.



5 @@@ 5. @@@

&:@@@ EE@@@

ﬁrﬁ“: W H, 7 ¥ 12§yl ¥ W 9% £ | Direction : Question 7 to 11 there are four
wae ¢ @ ol 3R B < wel # W W 8 | termsifigures in each question. The terms right

8 T e P RN eR B 3 tothe symbol : : have sama relationship as the
3 two terms of the left symbol ; : Out of the four

¥ v 9F i 0F W ge ¥ PR TEaEE omei Nl ey
igure one is missing, which is shown by
(?) fire & <ok 7 & | wles W & IR WR (7 ). Four altemnative are given for each ques-

fFg A ™A ﬂ'| ﬂ'gf farrea @1 Wraar Iad) tion. Find out the correct alternative and write

7 TR Y AT TR O R O e o @ its number against the corresponding question
on your answer sheet—

e il
T BHLP: GKEU: : GO+ 3 7. EHLP:GKPU::CGKO: 7
(1) EKPT (1) EKPT
() EJoT (2) EjOT
@) Fiou (3} FioU
(4) FKPV (4) Frpv

8. CEHI:5::FUK:?
B. CEHI:5:;FIJK: 7

(1) 6 () 6

() 8 @ s

(3) 7 @) 7

(4) 4 (4) 4

9 Eﬂiiﬂ'ﬂlim:? 9. Haly: Lira:: Japan: ?

(1) gam (1) Yuaan

(2) ®== (2) Kyat

(3) 2= (3) Yen

¢ e (@) Taka

PNP-NTS-2018 @) Contd.



10. 1290 : 6 : : 2394 :
1.
2.
3.

4.

11. YO8 FY : FedTdd : : IR FI ;2

1.

9
13
8
7

Hire
Fefimes

GIEG|

10. 1290 : 6 : : 2384 : ?
1. 9
2. 13
3. 8
4 7

11, Durandcup : Football : : Uber.Cup : ?
1. Golf

Badminton

Hockey

Ea

Chess

12. Newton : Force : : Heriz . 7
1. Frequency
2. Work
3. Power
4. Intensity

e : we7 9 13 A 18 e /emslo @ Direction : Question no. 1310 18 are based on
YoiEpH o) amEnfRa ¥ | wels A0 % s /g) the numberffigure series. One term is missing
ug g ¥ 1 fordy wew s (7 ) & <=iar 7 in each series which is indicated by question
219 & A R T aR [@E # | F9 mark (2 ). Find out the missing term out of the
ug (o) s IS @Yl S fa®e WS four altematives given below on questions and
E@Wﬁmmmmamwﬁematah&mﬁwnmw-

13.2,7,22,67,202,7
1.

a2 w N

609

607
576
488

PNP-NTS-2018

13 2,7, 22,67, 202, 7
1. 609
2. 607
3. 576
4. 498

(&) Contd.



14. 3,6,6,12,11,20,18,7, 7 14.

1. 2527
2. 36,30
3. 26,36

4 30,27

16. 18, 18,21,23,28,30,7, 7 18,

1. 2832
2. 38,37
3. 37,38

4. 24,40

16. 2, 9, 28, 65, 126, ? 186,

1, 217
2. 198
3. 216

4. 226

o s

Tt i hioliod 2

EiskfciEahel
YOX oo[cco OX

1 2 3 4

PNP-NTS-2018 {6}

17,

3,6,5, 12, 11, 20, 18, 2, 7
1. 25,27
2. 36,30
3. 26,36

4. 30,27

18, 18, 29, 23, 8, 30, %, %
1. 36, 32
2. 39,37
a8 37, 39

4. 34,40

2,9, 28, 65, 126, ?

1. 217
2. 196
3. 218

4, 228

Question Figures

] IC OO ?

Answer Figures.

XX oolrxooac

1 2 3 4

Contd.



we amepferdf Question Figures

18.

RSANE Qa9

weR gt Answer Figures
AERE AEEE

Frder : we W 19 9§ 23 Rl @ ff¥=aDirections : for Question No. 19 to 23 are
w9 ) amEnRa 21 < 2 7 a4 50 based on definite series of letters. In the follow-
w R & 59 — 3 <o T 8| 9@ ing questions some places are missing. Find
e @ A R T AR RAFu d 9 U6 Fout the correct answer for every question-

Raer @ @ g s ol ww & g ™ &

ferelt v wel faerew ) ugeT Sifog—

19.~ER-F-R-FE-K 19 ~ER~F-R-FE-K
(1) KEFKR (1) KEFKR
(2) EKFKR () EKFKR
(3) FKEKR (3) FKEKR
(4) FEREF (4) FEREF

20, ——K-W-KX -V == 20, --K-W-KX=-V-=
(1) WYXVWEKX (1) WVXVWKX
(2) WXVWVXK (2) WXVWVXK
(3) XWVKVKV (3) XWVKVKYV
(4) VKXWVKX (4) VKXWVKX

21. ~—L-H=-LO=-UL~- 21, ==L=H=LO-UL~-
(1) OHUQHU (1) OHUOHU
2) HUOUHO 2) HUOUHO
(3) UDHUOH (3) UOHUOH
(4) OUHUHO (4) OUHUHO

PNP-NTS-2018 o Contd.



22 ——M-1-MP-VM- 22—-M-1-MP-VM -

{1) vPIPVI (1) VPIPVI
(2) PVIPIV ) PVIPIV
(3) IVPVPI (3) IVPVPI
{4) IVPVIP 4) 1IvPVIP
23. -HU-1-U-IH-N 23. ~HU=I-U=IH=N
(1) IHNUH (1) IHNUH
@) IUNOH 2) IUNOH
(3 INHNU (3 INHNU
@) NHUHN @) NHUHN

e w1 . 24. 31 28 ¥ 379l @ 9 W B Direction : In question no. 24 to 286 the equation
FROT W B TG0 T s“r e 2 | Wl have become incomect due to wrong order of
v @ i 43 T4 ar fawedl A W GE P9 signs. Find out the correct order of sign

TIUS ¥ WaE U W & uee fafad—

24, 15-3+5x12=13 24.15-3+5x12=13
(1) x—+= ol
@) +x-= B s
@ -x=+ ) Sxm
) +-x= @) +-x=
25.3+4-Ex13=5 25.3+4-6x13=5
(1) x+-= (1) x+-=
@) +-x= (2) +-x=
(3) - +x= (3 - +x=
@) =x-+ (4) =x-+

PNP-NTS-2018 (8) Contd,



26.12+4-2+3=7

(1) +-+= (1) +-+=

2 +=+- 2y +=24+=

@ —t++= @) —++=

4 ++-—= (4 ++-=
27.24=8+3+4x13 27.24=8+3+4x13

(1) ++x= (1) ++x=

(@) x++= (2) x=+=

(@) +x+= (@) +x+=

4) =++x {4) =++x
28.3+5=2-8Bx9 28.3+5=2-8x5

(1) x+-= (1) x+-=

(@) +-x= (@) +-x=

(3) =+-x (3) =+-x

4 x+=- 4) 2+=-

28.12+4-2+-3=7

e we W 29 9 33 # e 1§ 23 T Direction in Questions 29 to 33 the letters in
W& DY BTAR 11 WdHaid! @ w9 ¥ @ T column | are coded in the form of digits, which
2, 3 o & 9 P &) e B Wl is waitten in the columin 11, But the order of digits
! &5 ¥ ufed sl gafdR aen A &4 79 Is different. Identify correct code of letters. Find

TR W & IR @ fav R 3 3 fAwed) oul the correct alternative for each question-

¥ & ot Ao o @fg o vae) den
(Rereq HaaT) &Y A9 ITR-9H IR 9D ueH
o @ ame fofad-

FIaH | ST 1N Column 1 Column 1
BLO 369 BLO 369
EPL 279 EPL 279
PJT 175 PJT 175
JNS 018 JNS 018
NLB 309 NLB 309
RTJ 451 RTJ 451
29, LIN W€ &1 ®18 T Bl— 29. What will be the code of word LIN-
(1) 713 (1) 7113
{2) 910 (2) 910
(3) 610 (3) 610
(4) 817 (4) 817
PNP-NTS-2018 (@) Contd,



30, BTS IR &1 IS T BIM— 30, What will be the code of word BTS~

(1) 431 (1) 431
(2) 850 (2) 850
(3) 358 (3) 358
(4) 258 (4) 258
31, REP 71&5 & BV @l 81— 31, What will be the code of word REP—
(1) 437 (1) 437
(2) &7 (2) 671
(3) 827 (3) 827
(4) 427 (a) 427
32 OPS ¥ & Hie @l BI— 32, What will be the code of word OPS-
(1) e78 (1) e78
@) on @) o7
(3) 708 (3) 7om
(4) 362 ' (4) 362
a3, LBT 918 &1 #Ie &1 BN— 33. What will be the code of word LBT-
(1) 369 (1) 369
(2) 935 (2) 935
(3) 529 (3) 529
(a) 365 (4) 265

frder ue 34 § 38 % Wt @ fagy 497 Direction: In Question nos. 34 to 38 are placed on
Ly mﬁ?ﬁg 'lﬁ?é%l H@@Hﬁ ?;zﬁ HE F1 the basis of some rules. In each question one number
L0 |G v = | ST T T
g|ﬁqﬁwﬁmfa-ax;@;mﬁme,t@;'Ebﬂ“m”t““mh'ﬁ'"d'“mdb”?}":m“mm“
e fadey @IRT 2R 99 & &1 o TR
o gv WE v e @ unr fafeg-

34. % _
4 5 7 4 9 7 4 5 7 4 9
18 ? 19 18 ?
17 21 9 17 21

correct alternative in each question—

-
ol ©

(1y 17 (1) 17
(2) 18 2y 19
(3) 15 @ 15
(4) 16 (4) 16

PNP-NTS-2018 {10) Conld.



35. 35,
B 4 4 9 6 4 5 8
3 7 3 10
8 G 8 4
{1y 8 (1} 8
2 6 2) 6
@ 7 @ 7
4) 9 (4) 9
38. 36,
A AT
19 33 ? 19 23 2
4 3 1 4 3 T
(1) 35. (1) 35
(2) 39 (2) 39
(3) 36 (3) 36
(4) 34 (4) 34
37.
/s
4
4
(1) 6 (1) 6
@ n @) 1
(3) 9 (3) 9
(4) 8 (4) 8

PNP-NTS-2018 (11) Contd.



38, 38.
& 6 8 8 4 g 6 6 8 8 4 g
7 8 ? 7 8 ?
9 10 5 9. 10 5

(1) 8 (1) 9

{2} 7 (2) 7
(3 8 (3) 8
(4) 8 (4) 6

39. 999 B IR Jda FA gy M wad & 39. By pointing lowards Umesh Gita says that

he is the grand-father of my elder son
5 e A w8 37 TR AT ¥ 7l I Remesh:; What is the relation between Gita

w1 A T I E- and Umesh—

(1) sfrem (1) Brother in-law
(2) far (2) Father

G) e (3) Uncle (Paternal)
(4) #mI (4) Uncle {maternal)

40. 0, P 757 2| R, P& far &1 T R 2Y 40.f Oisthe sister of P, Ris the father of P, Tis

Cand T -
(1) Fam (1) Aunty {Father's sister)
(2) @EA (2) Sister
() v {3) Neice
@) 3'5?] (4) Daughter

PNP-NTS-2018 {(12) Contd.



Prder: we g 41 9 45 Fy=fRew g Direction : Question no. 41 to 45 are based on
w e & @ 2O ¥ qfed TT the informtion. Read the information carefully
WAE F @ A R T3 ar R § @ wd and find out the correct alternative for each
fawen @1 s i sl va RBeven 9 v -

P AT T 9F U T U W& S qE oo

farfRan— R has four brothers named S, T, U and V. In

9o — R AN E B S, T Uik vE which T is elder than U, but younger than S, S
R A T, U S o971 & of S W wier 81 s elder than R and T, but younger than V, R is
SRR TH w1 § olfd VA BRTE IR U elder than U, but younger than T.

J ot A TY v 2
4. S5 TE 981 P -

41. Who is theeldest among them-

(1) v HRY
@ R (@) R
@T BT
4) s ) s
42, 395 | WEY v 54 8- 42. Who is the youngast among them-—
(1) s (1) s
@T @T
@) R (3) R
@ u @u
43, 374 | 9 | B - 43, Who is at the middle order among them—
(1) s (1) s
@ @
(3) R (3) R
(4) V () v
4.7 AT A ‘Eﬁ'ﬂ'}’ FHH N P - 44, i:fhn is at the second from top order among
) R them-—
EE; T {1} R
() S ﬂ T
3) S
@u @
45_3-.|ﬁﬁ:!n%|@a§q-§a;qq-qaﬁqg_ 45. Who is at the second from bottam order
among them—
T ORI
{2] R {2} R
(3 U () U
(@) s (4) S
PNP-NTS-2018 {(13) Contd,



49. U wifdr 4 ol qd & i gen

PNP-NTS-2018

46. g et e @1 lien wMaR 2241 27 8, 46, 1f the'fourth Saturday of a month is 22nd days

ar \igs & 13ar &R FE -
(1) "R

(2) geram

(3) gewaftrar

(4) =farR

fRyervax 2009 ® B9 @ o7 gn-
(1) <faar

(2) gar

(3) gewfar

(4) afErR

then 13th day of the maonth will be which day—
(1) Tuesday

{2) Wednesday

{(3) Thursday

{4} Sunday

47. 9f% 15 fhcia¥ 2008 @1 YhHAR o1 1 15 47.1f on the 15th September 2008 was a

Friday. Then which day will be on 15th
September 2009-

(1) Sunday
(2) Friday
(3) Thursday
(4) Saturday

e w1 ¥R S e @ <1 Red) aféor of 48. Dinesh home is two Km. South from his

2 T Wy & R Ay & wr 9 9 el
gdt % & | o welre &1 o) W@ A = R
¥ BT

(1) Jow of¥em

(2) =fEror of¥em

3) SR qd
(4) wi@or g

3 fFl Sor & AR asar €| e a8 a9
o arel W ¥ A g ow 2

(1) e f&i

{2) 7

f3) 5 Rl

(4) & Ay

, T TfaT AT BR O 9OR @ 3R
2| fose 98 < e 8| AR 2l
3R e 912 qem & | o O fpa f)
3N T TET B

(1) IR

(2) ©

(3) =fevor

(4) uf¥em

%’;?;ﬁ

(14)

school and Satish's homea is two Km. in the
East from Dinesh home what will be the
direction of Satish's home-

(1) North West
{2) South West
{3) North East

(4) South East

fibv 49. A man moves 4 km towards East. Then

moves 3 km. towards North. How far he is
from the starting point—

(1) 8 Km
(2) 7 Km
(3) 5 Km
(4) 6 Km

50. A person is going towards north from his

home then he tums right and then turn o
right, again he turns to the left. Now is which
direction is he going-

{1) North

{2) East

{3) South

(4) West

Contd.



grg — |

=

51—55 : A8 fRA A TEiw B AEGEE UfEY ouT U HEIT 51-55 9F $ IR IF TG
@ AR W Efae—

A W # A A A€} wwen W &) T AP WY W A v ¥ | R ue
T4 gd fade Y sfrerh wxeadl, ofa o aftrorh gof ok dvad o aftrer weh
AR €| B @l 39 w9 vy A FEET 3 o weel o < R
81 g% o P da A amer & 7€) Ry ofie @ wnw 2, W e T a1 engd
wfdeat R amwe B @ forg 9 B vear € §e we S 9 T g 2 wiE
98 Hearr B &, ot fuda Refl # wiw N 9@ D sl dar 2 R weehy A
IR AR B U9 B ® @ 98 iy | W o o o wife ¥ 2o, ae
CERGECC U

51. Wega e # A @ 59 wu F aviE A e o &
(1) o vd fds
(2) W=
(3) il
(4) Qward
52. Y fF @RV ¥ 9L &1 WU gRY o wd) -
(1) g&Y &1 @ g @ g
(2) wmfere wify & forg
(3) amgd wieaa & a9 & forg
(4) Teply & w=w @ forg
53, &9 Y ¥ AR @1 aam Rl B Aeg § s why e 2
(1) d & wwe Rufy g
(2) =rér # =t Rofy werea &
(3) 8 AN T Rafy s 2
(@) TR F o Rerfey RearereTd &

PNP-NTS-2018 {16) Contd.



54. e g o1 fadamfs -
(1) fomme
(2) Fafor
(@) v
(¢) ri
55wt e @ vArned i #-
(1) Wit
(2) =
(3) drom—ufer
(4) T
s6. T W P W v g e A -
(1) foash
(2) amen witg
(3) mE4
(4) T=sT=I
57. 9@ Y W@F F9A S B gl B ool W w8 @ 98 YuEr Suen 2
(1) s T
(2) it
(3) HEwm
(a) Yenfer
58, =Y wifeey &1 ol 5w o1a o Tar W 2
{1)- RN T
(2) Afcwra
(3) smefvs Fret
(@) wfem &1

PNP-NTS-2018 {17} Contd.



59, Wfeliel o@e €Y B WG Fe Ti-
(1) = 1943 g0
(2) ¥ 1954 0
(3) = 1938 0
(4) ﬂﬂiﬂaﬁﬁﬂ.
60. BHIAIE! HfY A §—
{1) TEAER w6
(2) Iremd fiE s
(3) gRaw g T
(4) AR T
61. 5 ¥ B W T ARSI o 8-
(1) geirer el
{2) =
(3) FrTEE
(@) wrERa aF
62. ‘TEIGAI FRTOTE @ TFiawn g
(1) g 9T
(2) geriars
(3) STagieT TS
(4) =Ruft wes
63. Gfarew vu @ e & T W e e -
(1) s
(o) wow
(3) Srom
(¢) <hrreeH

PNP-NTS-2018 (18)

Contd.



4. ‘gaeatir fw fRen o o 8-
(1) ST
(2) e
(3) wE
(4) RO
65, 'STEIOT URGT @ RS E-
(1) Awag ERwa=

(@) wamg AR fas

(3) WrerEen W
(4) werd gt

6. T dad N FEAT P oS -
(1) <o FEo g
(2) <foey @
(3) wemgE W
(4) e Yy G
&7. BTaTaTd) Hfa @l 8-
(1) SOEeR gHS
(2} Hfereiver
(3) wRiwpier Rt Forrer
(4) weTedr i
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(1} TS
(2) T=EFm
(3) ¥ e @ g
(4) T
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(1) pemsR
(2) e
(3) Sremsry
(4) STSRRY
70. AT BT QR AW B—
(1) wfaerr= &R AT
(2) T W
(3) i fomwd
(4) oy fig Iomyg
MW, W, W, ¥ 9 F% W &
(1) I ===
(2) &1 Sg=aH
(3) W T
(4) g ==
72. “onforETere’ HE P ST B
(1) amm=r
(2) srean
(3) worgdl
(4) ®fa
73, “WEAEE WA TE 8-
(1) Rt
2) freit
{3) ¥4
(4) o
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74. e 7 950 YR dAA Rg ¥ 39 arew # R &
(1) aems
(2) 7ga
(3) gav-
(4) et
75. HA BT AT 8=
(1) @t
(2) gaehi
(3) o
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7e. firan & Forer w9 @ a5 v = & v yoere F ot S anii—antt wera gE 8-
VY BTl B FEA B

(1) T T

(2) St e

(3) e ypmrer

(4) BT T
80. ¥ v snedt S ot o ' araw &

(1) 99 aIEg

2) P

(8) WgF T

(4) weaTHE TEY
g1, A g #-

(1) T

(2) ag@

(3) 2=

(4) w3
82, TR I TaH BIT-

(1) w&r

(@) g

(3) wETS

(4) faftewmr
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83. ‘firde’ o1 wRa—fAway wm—
(1) PR+
@) frdda
(@) fr+dw
{4) PfR+sw
84. ‘TP ww &1 fAelw B
(1) s
() P
(3) e
(a) srgfr
8s. ‘A1 P g1 7 Er— gW AaUiw @ fAU wgEa B9 O U e d-
(1) ImW
(2) s
(3) sroR
(4) sfa
86, "waT UETe Pt giEar A o ot 3-
(1) T=n & N & 99 T
(2) s uRs 9 &
(3) < s @l
(4) sraar e o W goarn oo §
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(1) =€ JRirea T
(2) arcafer asf g
(3) =ga uResm &
(4) @ g

88, Y& g daren IE B
(1) snfimaf
(2) anfifars
(3) ameffarg
(4) amdfafe

go. 'Rurerm § T Freved & a9 § wgw & IR ¥ IS -
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(3) FErET
ORL e
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(4) T T
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91, 9% v B v AT B
(1) wma
(2) o
(3) sewme
(a) foremma

92. YlId WXOT H 16 WIST 9, TN TR B G WG B B
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(2) wer
(3) <
(4) Fem
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(4) g= W
gg. ‘gl Afdw’ wex # WA 8-
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Part I
ENGLISH

51-56. Read the following passage and answer the question that follow-

51.

Speech is a great blessing but it can also be a great curse, for while it helps us to make
our intentions and desires known to our fellows, it can also, if we use it carelessly, make
our attitude completely misunderstood. A slip of the tongue, the use of an unusual word,
or of an ambiguous word, and so on, may create an enemy where we had huped to win
a friend. Again, different classes of people use different vocabularies, and the ordinary
speech of an educated man may strike an uneducated listener as pempous. Unwittingly,
we may use a word which bears a different meaning to our listener from what it does to
men of our own class. Thus speech is not a gift to use lightly without thought, but one
which demands careful handling. Only a fool will express himself alike to all kinds and

conditions of men.

Speech can be a curse, because it can—
(1) reveal our intentions

(2) lead to carelessness

(3) hurt others

(4) creat misunderstanding

A 'slip of tongue’ means something said—
{1) unintentionally

{2) wrongly by chance

(3) without giving proper thought

(4) to hurt another person

The word ‘speech’ is—

(1) Noun

(2) Verb

(3) Adjective

{(4) Adverb

What is the opposite of the word ‘educated'-
(1) illiterate

(2) uneducated

(3) eneligible

{(4), unstudious
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85,

56.

While talking to an uneducated person, we should use— -

(1) Polite language |

{2) ordinary speech

{(3) his vocabulary

{4} simple words

If one used the same style of language with everyone, one would sound-
(1) democratic

(2) foolish

{3) boring

(4) flat

Direction : (for question nos. 57-58) The following six sentences come from a paragraph. The
first and last sentences are given; choose the order in which the four sentence (PQRS) should
appear to complete the paragraph.

57.

“w a0

=1

° T g

o

1. When a satellite is launched, the rocket begins by going slowly upwards through the
air.

As a result there is less friction
For the atmosphere becomes thinner

As the rocket goes higher, it travels faster

However, the higher it goes, the less air it needs
Consequently, the rocket still does not become so hot.
(NRSQP (ZYRAQPS (IIPAQRS (4HPRSAQ
1. A man can be physically confined whithin stone walls.
But his mind and spirit will still be free

His hopes and aspirations still remain with him.

Thus his freedom of action ma‘}.r be restricted

Hence, he will be free spiritually if not physically

Soon you will realize that this is an exciting task

(1)SPQR (2QRPS (3) PQRS (4SQPR
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Direction : (for question nos. 58-60}) You are provided with the first and last parts of a sentence.
The remaining sentence is broken into four parts labelled {P), (Q), (R), and (S). You are required
to arrange these parts so as to form a complete meaningful sentence and then choose the
correct combination.

59. lwas

P.  and stay for a few days in Delhi
Q. when my father told me
i :

very excited

S. _that! could go with him
(NPQRS (2JQRSP (8 RQSP (4SPQR
&80. Milton said that—
P.  those persons
Q. would be damned
R. whodo not obey
S. God's commands

(WPARS (PRSQ (3 QRPS (4 RSPQ

81-65 Directions: Pick out the most effective word from the given words to fill in the blank to
make the sentence meaningfully complete,

61. [willbe leaving for Dethitonight and ............ to return by this weekend.
(1) Waiting
{£) Plan
{3) Going
(4) Likely

62. Heistoo........... to be deceived easily.
{1) Strong
(2} Modem
(3} Kind
(4) Intelligent
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63.

The Policehave ..........

(1) Evtered
(2) Lodged:
(3) Registered
(4) Noted

a complaint against four persons.

Heisso ............. of his own idea that he will not entertain any suggestion from others.

{1) Enamoured
(2) Enchanted

{3) Hopeful
(4) Jealous

{1) Chair
{2) String
(3) Mass
(4) series

....... of doctors he eventually thought of consulting a specialist.

66~70 Select the word which means the opposite of the given word-

66.

67.

Nadir—
{1) Progress

{(2) liberty

(3) Zenith

(4) Modemity
Knowledge-

{1) Ignorance

{2) Niteracy

(3) Foolishness
{(4) Backwardness
Beautiful-

{1) Ugly

{2) Dark

(3) Rough

(4} Dirty
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69. Appointment-
(1) Disappointment
(2) Suspension
(3) Dismissal
{(4) Discharge
70. Humble-
(1) Dominant
(2) Proud
(3} Despotic
{4) Pompous

71-80. Inthe following passage there are some numbered blanks, fill in the blanks by selecting
the most appropriate word from the options given below-—
Interviews are very important for all of us. We must face interview with confidence.

There is {71) any persons who at one time or the other has not (72) aninterview situation.
While (73) are aday today (74) for people (75) with others in their daily chores, we are here
(76) with interview situations when one is a (77) aspiring for an (78) such situations not very
(79) happen in one’s life, are' (80). When the candidate fikes to come on top of the situation,

This calls for careful study and preparation.
71. (1) perhaps (2) hardly (3) probably  (4) possibly

72, (1) known (2) taced '(3) measured (4) seen

73. (1) interviews (2) discussions(3) meetings (4) seminars
74, (1) possibility (2)feeling  {(3) happening (4) experience
75. (1) interact (2) speak (3) react {4) concemn
76. (1) meeting (2) concemed (3) involved  (4) interested
77. (1) beggar {2) candidate (3) person  (4) student

78. (1) employment (2)estimation (3)elevation (4) establishment

79. (¥ frequent (2) happy (3)important (4) consquent
B0 (1) minutes (2) times (3) hour (4) occasions
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81-85 In each of the following questions out of the alternatives, choose the one
word which is nearest in meaning to the given word.

81. Candid-
{1) Sincere
(2) Polite
(3) Frank
(4) Rude
82. Optimistic-
(1) Optician
{2) Favourable
(3) Wiehful
(4) Hopeful
83. Ambition-
(1) Expection
(2) Desire
(3) Aspiration
(4) Goal
84. Drowsy-
(1) Soothing
(2) Lazy
(3) Exhusted
{4) Sleepy
85. Exclusive-
(1) Extensive
(2) Sole
(3) Extemnal

{4) Excessive
PNP-NTS-2018 (32) Contd,



Direction : In each of the following question, choose the most suitable “One word” for the
given expressions.

86. An office or post with no work but high pay.
(1) Honorary
{2) Sinecurg
(3) Gratis
(4) Ex-officio
87. Walking in sleep-
{1). Somniloguism
(2} Somnambulism
(3) Obsession
{(4) Hallucinaticn
88. A personwho regards the whole world as his country-
{1) Patriot
(2) Nationalist
(3) Cosmopaolitan
{(4) Metropolitan
89. One who totally abstains from alcoholic drinks-
{1} Puritan
(2) Samaritan
(3) Pedant
(4) Teetolaller
90. Time after twilight and before night-
(1) Evening
(2) Dawn
(3) Dusk
(4) Eclipse

PNP-NTS-2018 (33) Contd.



Direction: In each of the following questions, a word has been written in four different ways out
of which only one is correctly speit.

Find the corractly spelt word.
91. (1) Entreprenuer
(2) Enterpraneur
(3) Entrapreneur
{4y Entrepreneur
92. (1) Commission
{2) Comision
{3) Comission
(4) Commision
93. {1) Jewelery
(2) Jewellry
(3) Jwellry
{4) Jewellery
a4, (1) Argument
{2) Arguemant
(3) Argumant
{4) Arguement
95. (1) Forein
{2) Fariegn
(3) Foriean
{4) Foreign
96-100 Select the meaning of the given Phrasesl/idioms.
98. To give up the ghost-
(1) Todie
{2) To make false appearance
(3) To terrify others by acting in suspicious manner

(4) To leave uselgss pursuits
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97.

99.

100.

To get into hot waters-

{1} To be impatient

(2} To suffer a huge financial loss
(3} To getinto trouble

(4) To be in a confused state of mind
To read between the lines-

{1) To concentrate

(2] To read carefully

(3) To suspect

{4) To grasp the hidden meaning
All and sundry—

{1) Greater share

{2} Completion of work

{3} All of a sudden

{4) Everyone without distinction
French leave—

(1) long absence

(2) leave on the pretest illness
{3) Casualieave

(4) Absence without permission
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gqug - [l
Part - llI
s aftrefy The SCHOLASTIC APTITUDE TEST
Y 1% geds : 100 Time : 1% hours Full Marks : 100
(wdfe v & gid s awaffdt ¥g) 2 ' (For Physically challenged group 2 hours)
el 3 R By INSTRUCTIONS FOR THE CANDIDATES
1. T8 §F & favg wel & uwt g6 WA 1. Partlllis consisted of three subject groups
# . containing questions as following :
(@) = TH 101 ¥ 140 (a) Science Q. No. 101 to 140
(@wmifrs aergs wY. 141 9 180 (b) Social Studies Q.No. 141 to 180
() wrfrer .. 181 ¥ 200 (c) Mathematics  Q.No. 181 to 200
2. O fawg & wwi @ Swr AR 2. Attemptall the question from every subject.

3. WAH 9 @ 7= fav 74 ar fAse # ¥ 3. Find out the correct alternative from given
wE fweq 31 9 I oY ean-99e four alternatives for each question and

W e G W& & we fafay | write its number on your answer sheet
against proper question number.

4. 3" I aR™ FfTe | 4. Please start your work.

HaN— 30 e gRaw 1w a1l & afRw &8 A g5 7 kg
N.B.— Do not write anything in the booklet except rough work.



101.

102.

103.

104.

SAT-2018

wue-lll
(Part - llI)
fasm= Science
fort =rere A faega o @ st HawvE @ 101. Opposition of flow of electric current is
O HEART & called-
(1) g (1) Potential difference
(2) fireger amm (2) Electric charge
(3) Wit (3) Resistance
(4) e graara R0 (4) Electromagnetic Induction

Frferfaa § frga forn wieam Arasa@® 102 Which of these does ot require a medium—

el 8- (1) Conduction

(1) =er {2) Convection

o) vaEs (3) Radiation

(o) R (¢} None of these

(4) T @ g &

U@ HIUS UG 9 enfar 1 wller £ 59 103. Capacity of a measuring flask is 1 litre.
T ¥ g9 9 8- what it will be in cubic centimetre—
(1) 1 a5 W (1)1 Cubic Centimetre

@) 10 w7 T {2) 10 Cubic Centimetre

(3) 100 ¥ T (3) 100 Cubic Centimetre

(4) 1000 =71 2 (4) 1000 Cubic Centimetre

¥R SO BT - 104. Noise is produced by-

(1) we G{[Qﬁf i {1} Vibration with high frequency
(2) e T A (2) Regular vibration

(3) W U9 EeT WU 9 (3) Regular and periodic vibration

(4) oree ©d SRS DA 9 (4) Irregular and non periodic vibration
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105. @ B Y0 AW @ BT T W 405 A ray passing through which part of alens
smflafda Mead -

emerges undeviated—
(1) wipa (1) Focus
(2) e FBrowm
(2) Centre of curvature
(3) waif¥e fawg

(3) Optical centre
(a) P AR amen I S g 4 (4) between Focus and centre of curvature

106. f¥uft e w1 R Afvwww | B 106, To convert temperature in °F into °C we use

§3 9 agan wrn - the formula-
0 5T 0w
(2) ¢ fi{F ) ) c- :w-m
@) F=3(c-32) () £=3(c-32)
(4) E=§fF-331 (4) c::[F—szj
107. @i g@ aRafE TewE ¥ @8 wew 107, A swimming pool appears less deeper than
fearg da &- its real depth~
(1) W & BRY (1) due to reflection
(2) SRl & PRV (2) due to refraction
(3) avf fagawr & Hrev (3) due to dispersion
(4) uredTa fAReITs @ ST (4) due to lateral displacement

108. U @fd WHaE 2901 O 4 H1Ex F gl 108. A person is standing 4m away from plane
® @ &) oo ok uftfaw & 9 & mirror. Distance between mirror and

o - image Is—

(1) 4 Hrx (1) 4 metre
(2) & #ex (2) 8 metre
(3) 2 #rex (3) 2 metre
(a) 6 Arex (4) 6 metre
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100, A @ ATAER, 9 ARl 9% @1 109 According to law of floatation weight of a

N B

(1) fzenfis 59 3 wR & TR
(2) frafa g9 @ amgds & R
(3) faenfie 7g & wR | afde
(4) Rreenfia 59 @ R | 3w

floating body is-

(1) Equal to the weight of liquid displaced
(2) Equalto the volume of liquid displaced
(3) Isgreater thanthe weight of liquid displaced
(4) Is less than the weight of liquid displaced

10. 2 Q & § Wfer AFH 3R TR 440, Two resistance each of 2 ohm are con-

F9 T AT e T | witRmi &

o7y 8-
(4Q .10
@10 .40
B 2q .2 @
4)aQ .4 Q

11, T & Ypoe arelt T3 &1 aaddTe B— 444

(1) 1 e
(2) 1 =52
(3) 12 G2

(4) 24 ger

112 ﬁmmﬁmﬂﬂﬁﬁ?ﬁﬁﬂz

ufafer T
(1) Paw @
() ar
(3) 4
(a) g7 & Bl
113. <R gfic <9 # yfiferg s 8-
(1) e o=
(2) ¥ F wEe
(3) ¥feer & o
(4) arer famg wx

PNP-NTS-2018

nected in series and in parellel separately.
Equivalent resistance is—

(1a4Q .1 0

@1 .4 0

(320 .20

@a2 4

Time period of second's needle of clock—
(1) 1 Minute

{2} 1 Hour

(3) 12 Hour

(4) 24 Hour
If an object is placed between two plane
mirror,how many images will be formed-

{1) Only one

(2) Two

(3} Infinite

{(4) None of these

. In long sightedness images is formed-

(1) On Retina

(2) Infront of Retina
(3) Behind Retina
(4) On blind spot
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14, Frafefem 4 ardge eEged 8-

118.

116.

117.

118,
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(1) 2@
(2) W2
(3) ufdref
(4) st

TG B SeAFS B WP BN &— 115,

(1) amelra
(2) &
(3) TwTeri
(4) SgreA

RN Wiot (& s o1g & R A 146,

D m'a fremr §-
(1) R (Srm)
(o) wmifar

(3) oA

(4) e

frfafaa § =9 & =@a § ¢ = % 17,

waifds &

(1) dre

(2) g

(3) geemaTge

(4) fermmge

e At g 2
(1} Na

(2) Mg

(3) Cu

(4) Au

{40)

114,

118.

Unsaturated hydrocarbon among the
following is—

(1) Ethane

(2) Methane

(3) Ethylene

(4) Propane

Nature of oxides of non-metal is-
(1) acidic

(2) Basic

(8) Amphoteric

(4) Neutral

Stainless steel is an alloy in which follow-
ing is added along with Iron—

(1) Zinc

{(2) Chromium

{3) Tin

{4) Cuppor

Which ameng the following coal contains
highest % of Carbon-

(1) Peat

(2) Bituminous

(3) Anthracite

(4) Lignite

Most reactive metal is —
(1) Na

(2} Mg

(3) Cu

(4) Au
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119.

120.

121.

122,

123,
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i der HCl = faear W g9 28—

119.
(1) H,

@) N,

(3) CO,

(4) He

1 3 9 B JER] R @ T19 W 5§~ 120,

(1) weilds
(2) s
(3) wmr

(4) BrERIH

Tl gy oV Wd ¥ AT RF 121,

EERA T g 8-
(1) Na

(2) Mg

(3) Fe

(4) 2n

TRIATCT wife® B
{1) dichei=

{2) dto Fo Ho

(3) SdeEe

(4) dreisids

T & ofd T E-
(IR

(2) weR BE A
(3) o w9
¢) frere ®fa 9

122.

(41)

123.

Zinc and HCI React to form-
(1) H,

@) N,

(3) CO,

(4) He

Which among the following non metal is
liguid at Room Temp—

{1) Chiorine
(2) Bromine
{3) Mercury
{4) Phosphorus

Which metal forms hydrogen gas when
reacts with cold water—

{1) Na
(2) Mg
(3) Fe

() Zn
Thermosetting plastic is—

(1) Polythene

(2) PVC

(3) Beckalite

(4) Polypropene

Lens of Spectacles are made from—
{1) Soft Glass

(2) Hard Glass

{3) Pyrex Glass

{(4) Flint Glass
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124

125.

126,

127.

128.

iy Ruaes # fpar eRfr 8-
(1) " faevee

f2) fvarn Ao

(3) Prafaa aifeg fawves
{a) 9T 3uHEA
AdimeiE Sel & S 8-

(1) B

(2) Ugforam

(3) mpfaes 4

(4) oect g0 W& A Al
Howzm Tage W TA A I AR & 408
(1) A= Fa

(2) 32 4

(3} TR

(4) gomg A

HIEX [0 YR B Slenae! HE 8— 197
(1) =g | 4

(2) w1 % =9

@) zg A =7

(4) | 4 oM

g A @ Ry i I A8 8-

128,
(1) @Ew
(2) vt
(3) onfera
(4) T
. PNP-NTS-2018 (42)

124.

125.

The reaction that take place in nuclear
reactor is—

{1) Nuclear fusion

{2) Nuclear fission

{3) Controlied nuclear fission

{4) Double decomposition
Renewable source of energy is—
{1) Coal

(2) Petrolium

(3) Natural gas

(4) Energy of flowing water

. Calcium carbide when reacts with water

gives—

(1) Methane gas
(2) Ethane gas
(3) Ethylene gas
(4) Ethyne gas

. What type of colloidal system is fog—

{1) Gas in liguid

(2) Liquid in gas

(3) Liguid in liquid

(4) Solid in gas

Which of these is not a viral disease-
(1) Measles

(2) Rabies

(3) Polio

(4} Tuberculosis



129.

1340,

131,

132.

133.

134,

Wrora 7 g &

(1) U @) w9

(2) oEEEge o 9 A

(3) T @ &M A

(8) o7 3 p1d A8

UATART A 8-

(1) =raa ®

(2) T

(3) HawT B

(4) FIGRI W1

win ®iftrer fad dwe 98 o
el -

(1) vt SR S

(2) Tt wRW Bitverd

(3) HER @EwEy

(4) 378 9 w1 A

frfoflag o @9 W g o |
Fafdm 8-

(1) a9l SRR

(2) gurfate aro ot demala

(3) aiftreg & forg ey

(a) Wil = el Sl @) Swuf

ar=arerll ¥ orquilers geagw 8- 133,

(1) TrrEerS

(2) szt

(3) tftr

(a) wfoe

n, el & SRR W yyEn W &
(1) WfEan FlREe

(2) gdific® aral

(3) w=fe® 3

(4) wifEmm dwarge
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129.

130.

131.

132

(43)

Marasmus occurs due to-
(1) Protein deficiency

{2) Carbohydrate deficiency
(3} Fat deficiency

(4) none of these

'Sonalika' is a variety of-

(1) Rice

{2) Wheat

{3) Maize

{4) Bajra

Blood cell without nucleus are—
(1) Red blood corpuscles
(2) White blocd corpuscles
{2) Blood platelets

(4) Mone of these

Which of the following conclusion is
related to lamarck—

{1) Survival of the fittest

(2) Inkeritance of acquired character

{3) Struggle for existance

(4) Origin of specis by natural selection
Enzyme which is absent in pancreatic juice—~
(1) Amylase

{2} Lipase

{3) Pepsin

{4) Trypsin

Chemical used for preservating Jam and Jelly
is—

(1) Sodium Chloride
(2} Acetic acid

(3) Citric acid

(4) Sodium Benzoate

Contd.



135,

1386.

137,

138

139,

140,

(3) T
(4) o

v & 0§ Prefaiea @ feg 1O

WY & TR Efe &
(1) & g=mTOT

(2) arg wRrTor

(3) et WRTTOY

(4) P W
SIERTH WAER) 8-
(1) =TT

() &1
(3) e
(4) F=T%

Prfafe 39 o aaie aod 83— 199

(1) Ryea= fipg
(2) wysl wren

(3) wemdT =
(@) ga

B.C.G. uftrem frg dord A qag & 140

ferg 8-
(1) &em
(@) T
(3) e
(4) mfes

PNP-NTS-2018

135.

136.

138.

(44)

Retinol is a common name of-
(1) VitA

(2) VitB,

(3) Vit B,

(4} vitc

Base which is absent in R.N.A~
(1) Guanine

(2) Adenine

(3) Uracil

{4) Thiamine

In maize plant the type of pollinaticn is—

{1) Self Pollination
{2) Pollination by air
{3) Pollination by water

(4) Pollination by insects
Most primitive mammal is =
(1) BAT

(2) Rat

(3) Platypus
(4) Kangaroo

Which of the following is not a true fish—
(1) Silver fish

(2) Sea horse

(3) Flying fish

{4) Eel

B.C.G. is a vaccine for which disease—
(&) Gholera

(2) Measles

@) Titanus

(lﬁ Tuberculosis

Contd.
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143,
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145,
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wETtae g

A T & e & Prefaee § Ry 141,

TE g HORT WAS W o
(1) i =
(2) mm H
(3) SmFTST
(a) 1@

werafeagey A v wftest @ fwior s 142,

Tar -

(1) =il g
(2) goeral BN
(3) @Rl gy
(4) =gl &

TE B Oig &1 3 00 o IS e e 143

(1) S

(2) Sgaq
(3) WD
(4) Frag

T ¥ e v @ R W aEr 144,

FET U
(1) anfix &e=
(2) S

(3) iR T
(4) Bl

g g M A & aas 8- 445

(1) waga
(2) wered a9t
(3) SaTHY yaIg

(4) FrforEm™

(45}

Social Science

In the early Rigvedic period, what was
considered to be the most valuables
property—

(1) Land
{2) Cow
{3) Grains
(4) Water

The Rath temples at mahaballipuram were
built by—

(1) Cholas
(2) Pallavas
(3) Chedis
(4) Chalukys

Who was the ruler of “Vatsa' during the time
of Buddha-

(1) Bodhi

(2) Udayana
(3) Satanika
(4) Nichakshu

Who among the following called himself the
'Parrct of India’-

(1) Amir Hasan
(2} Jaisi

(3) Amir Khusrau
(4) Faizi

The tamous book "Geet Govind" is written by—
(1) Jayadev

(2) Mahadevi Verma
{3) Jaishankar prasad
(4) Kalidas
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FERM AeiETs B w8
(1) groord

(2) FrIgR

(3) gouETEg

(a) Tnferaz

T G geeme @ Secy w8 T gq- 147,

(1) IR
(2) wIEFR
(3) wmEoTEt
(4) TR

WRa i gEomem am Feafafaa § ¥ 148

e HF o

(1) &=

(2) s

(3) germet
(a) sorireA

W@ ¥ 1857 & R @1 Kea B 149,

fear en—

(1) o w5

(2) = HE

(3) wua s

(4) T G
“PTHEIICHRS a1 AT—
(1) v wrEr

'(2) deafre o=
(3) dgvE

(4) ¥ B W gHA

(46)

146,

150.

The birth place of Maharani Laxmibai is
situated al—

(1) Varanasi
(2) Kanpur
(3) Allahabad
(4) Gwalior

Who among the following emperors was
called ‘Qalandar'-

(1) Akbar

(2) Jahangir
(3) Shahjahan
(4) Babar

Who among the following were the first to
bring a printing press in India—

(1) Dutch
(2} British
(4} Portuguese

(4) French

Who was the leader of 1857 Revolt in
Lucknow-

(1) Zeenat Mahal
(2) Nana Sahab
(3) Hazrat Mahal

(4) Tantya Tope
What was '‘Kamagatamaru'-
(1) A ship

(2) An Industrial centre
(3) A harbour

{4) An army unit
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182,

153.

154

155,

156.
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wie # sftear /ey &) e & di- 151,

(1) wurol Fwr @t A

(2) aRgeen A

() fav=s 1y wxEIeaTg |
(4) =T BREWE A

qEY & T U I wRig &
(1) fran wma

(2) o Two Ty

(3) Yo 3fto &M

(4) 9 TrEvER

W 7S B g Bl
(1) Gfam o= Tesil

(2) werem el A

(3) @i TaFT WXl |
(4) 3w grAEw A
‘smae e fermar—
(1) &gl EW WEEE
(2) il

(3} orger wifer wer
(4) g BT

FreafirRr & @ @i G ) 2 155

(1) e sif-—wer SeaEs

(2) drelt wifa—foems omre
(3) a wpift—ma—Rga Iarea
(a) &Ra. sifd—amer=1 Sedre
T araferd 8-

(1) "ot a5 & AR

(2) e 98 & FR

(3) 9T ) & fR

(a) T 71 & PR

(47)

152.

153.

154.

156.

India House in London was establised By-
(1) Shyamii krishna verma

(2) Bartullah

(3) Virendranath Chattopadheyay
{(4) Lala har dayal

Who is famous as ‘Deenbandhu’-
(1) Vinoba Bhave

(2) C F Andrewz

(3) A.O. Hume

(4) Veer Savarkar
‘Anand Math’ was composed by-

(1) Bankim Chandra chatterjee
{2} Mahatma Gandhi

(3) 8Wami Dayanamd Saraswati
{4} Ram Krishna Paramhans

Who wrote ‘Akbarnama’-
(1) Abdur Rahim Khankhana

{(2)Faizi
{3) Abdul Quadir Badauni
{4) Abul Fazl

Which one of the following 1s not correctly
matched-

{1) Blue revolution - fish production
(2} Yellow revolution- oil seeds production

(3) White revolution-thermal power pro-
duction

(4) Green revolution-food grain production
Nasik is located along the river—

(1) Narmada

(2) Godavari

(3) Penganga

(4) Mahi

Contd.



157. ¥R ¥ WA e few o A e 157
fegen 8-

(1) Frirm
(2) s
(3) rovmEs W
(4) sATATE
156, WIRHIG WEEM & #EE HA =6y 8- 158,
(1) ScHAvS
(2) e W
(3) =T ST
(4) mTETERRER
10. Rifdws & woEr - 150,
(1) rmEn
(2) Tt
(3) e
() $er
160. fva wrien faw w=mn wmEr 8- 450
(1) 4 SreER A
(2) 31 7§ =Y
(3} 10 f=iaw =
(4) 11 S@rg @l
161. Fyfaiiae 1 § SF—0 e @ e 161.
w74 #—
(1) W
(2) arre
(3) merg
(4) fAfefdy

PHP-NTS-2018 (48)

In which one of the following states the
sun appears the earliest in India—

(1} Mizoram

(2) Assam

(3} Arunachal pradesh
(4) Nagaland

The highest peak of Indian Peninsula is—
(1) Oatakmund

(2) Anaimudi

(3) Dodabeta

(4 Mahabaleshwar

The capital of sikkim is—
(1) Agartalla

{2) imphal

(3) Gangtok

(4) ltanagar

. The world population Day is observed on—

(1)4* october

(2) 31% May

{3) 10" December
(4) 11* July

Which one of the following rivers is long-
est in the world—

(1) Nile

(2) Amazon

(3) Brahmputra
(4) Mississippi



162. A ¥ walfed S[E & gaeH W g 8- 162,
(1) oRe &me
(2) T WRW W
(3) wEerrs; |
{4) WO |
163, WRT ¥ ¥R o W wEl 8- 163
(1) TAlcH
(2) wem U=w
(3) SOX WA
(4) affrATTg
164, TR W TG AN A U B B 164,
{1) oR wRw d
{2) I #
(3) Dt #
(4) vivar #
165, gl @ o frefafaa #§ A fewen 16s.
FR -
(1) SR wiEr
(2) =g wRac
(3) f&=1 gd v
(4) TEW
166, e sha eraftera 8- 166,
(1) 9o ¥
(2) e #
(3) affrermrg
 (4) ahfRam ¥
PNP-NTS-2018 (49)

In India highest production of Jute comes
from—

(1) West Bengal

{2) Andhra Pradesh
(3) Maharashtra
(4) Rajasthan

. Where are diamond mines in India—-

{1) Karnataka

(2) Madhya Pradesh
(3) Uttar Pradesh

{4) Tamil Nadu

The largest quantity of saffron is produced
in—

(1) Uitar Pradesh
(2) Kashmir

{3) Kerala

(4) Goa

Which one of the following is caused by
the rotation of the earth—

{1) Tides

(2) Change of season
{3) Day and Night

(4) Eclipse

Chilika Lake is situated in—

(1) Punjab

(2) Assam
{3) Tamil Nadu
{4) Odisha

Contd,



167, FrR—a1 TEw wraE fm @ Wt & 167, Which city is dedicated to Lord Shiva—

(1) 7Y (1) Mathura
@) 3@ (2) Puri
(3) erarezn (3) Ayodhya
(4) T (4) Varanasi
168, Rurd & aife sfem o1 geay Red 8— 168, The Headguarter of Reserve Bank of
(1) Rrecht 3§ India is in-
@) {jﬂ"é 3 (1) Delhi
0 A
(4) TR (4) Kanpur

160, WSNT I IHF W wnfi 8- 169. National Dairy Research Institute is
esiablished at-

(1) w=na ¥
3 (1) Karnal
@) T 3 (2) Hisar
(8) o (3) Anand
(4) TrAqR A (4) Jaipur
170. oA ® WG @ wseafy 170, Who is the present president of India-
(1) =i oy Tt (1) Sri Pranab Mukerjee
(2) # T RiE {2) Sri Rajnath Singh
(a) #0t wweer wifdE (3) Sri Ramnath Kovind
(4) £ WM ey At (4) Sri Gopal Krishna Gandhi
171, WY WRETE T I | AR AREE 171, Which part of the Indian constitution deals
} ddftra - with citizenship—
(1) = v (1) Part IV
R (2) Part
(3) Wi |
(3) Part)
(4) wrT N
(4) Part I

PNP-NTS-2018 (50) Cantd.



172,

173,

74,

175.

176,
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frefefera o5 o wela swi=ravar 172, Which one of the following is the major

P WA Tl B—

(1) Yohtard) srefegaven

(2) wToraTd) Sreferawen

(3) Pafdra arefemamen

(a) Swdiam # & B A

Ui weerar Raw wArn o 8-
(1) 15 a8 F

(2) 25 SFTadt @

(3) 16 TRER &

(4) 25 Bl &I

MR wfEas o i § 9 SF- 174,

sred W ) fade A @ it 8-
(1) R 51

(2) o 60

taiaﬁﬁﬁﬂ

(a) arge0= 380

TRl o |t 8-

(1) da g

(2) wwaeti T 4

(3) wroa wEr |

(a) srafere wET #

AUl T WEH B FTEETA B B— 475

(1) s ad
(2) 6 T
(3) 3 &%
(4) 4 ad

(51)

feature of the Indian economy-—
(1) A capitalist economy
(2) A socialist economy

(3) A mixed economy

{4) None of the above

. National voter day is celebrated on-

(1) 15" january
(2) 25" january
(3) 15" February
(4) 25" February

Which one of the following Articles of
Indian constitution is related to Indian

foreign policy—
{1) Article 51
(2) Article 60
{3) Arlicle 50
{4) Article 380

. Panchayati Raj is included in the—

(1) Union list

(2) Concurrent List

(3) State List

(4) Residuary List

The tenure of Rajyasabha member is—
(1) 5 years

(2) 6 years

(3) 3 years

(4) 4 years



177. s ReaTul § rafaa s e g— 177. International Institution related to labour

welfare is-
(1) e (1) UNICEF
(2) 9o eio 3o @) LL.O
(3) Two0 To 30 (3) FA.O
(4) ¥o 7o S0 (@) CNT
176, "SRR SNATH WA BT A {54 9 478, In which year was the 'Pradhan Mantri
i gan- Awas Yojna' launched—
(1) 2012 (1) 2012
(2) 2014 (2) 2014
(3) 2015 (3) 2015
(4) 2017 (a) 2017
179, TGS U HN TR & 176. Uttarakhand State was created in-
(1) ¥ 1999 # (1) the year 1998
(2) ¥ 2000 # (2) the year 2000
(3) w2001 H (3) the year 2001
(a) =& 2002 # (4) the year 2002
180, ‘Rafen shsr @ dow - 180. Who is the author of 'Rebooting India™-
(1) fira =rex (1) Shiv Nadar
- (2) Sundar Pichai
() e et (3) Nandan Nilekani
(4) Satya Nadel
{4) Tem =d

PNP-NTS-2018 (52) Contd,
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181, [14qy) BT 00 90 T B R TS 181, To make [v'+4)%) perfect square we

182

183.

184.

PNP-NTS-2018

E1T—
(1) 4w
@) 2%
(3) 2y

{4) 4_?'1'12

Maths
have to subtract-
(1) axy
@) 2%
(3} 2y
(@) 4y’

E GHET S T ofdnrg 24 9 £ 182. The perimeter of a right angled triangle is

ufe g ool & 71T 10 99 & @ 39
Brw o1 dava 8-

(1) 24 ==t 0
@) 10 =t ¥t
(3) 12 =t I
(a) a8 ot Wi

24 om, If its hypoténuse is 10 cm then

area of this triangle is-
(1) 24 cm®
(2) 10 cm?
(3) 12 cm?

(4) 48 cm?

FPrfrfiaa 3 J.m,fﬁfrﬁf 7 71 & 183. Valueof Jig, J25+ 121 Inthefollowingis-

(1) 5
(2) 3
(3) 4
(4) &

I BT (1,2) (3, 5) T (0.6) WY & 184,

o b & W3-
M 3
@) %
@) 2
(4} -1

(83)

(1) s
(2) 3
{3)

(4)

if points {1,2), (3,5) and {0.b} are co-
linear then value of b is—

(1) 3
@ 7

2
(3) 2

@ -

i

8

Contd.



185, Frriforiae eforet 4 & agug &

186,

187.

188,
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(1) 727 -5/x+45

@) P-4
®) 5

¥

@) Jresp-

ufet v wig vd 0o e o) st 2 - 3 & 186.

e # & iR st Fargdt @ SR
4 : 38 I 5D ST @b AT BT

_(1) 16 : 27

(2} 16 : 81
(3) 16:9

(4) 27:18

U SOAER B BT gHe forad 187,

T 20 WY T e 14 T &, wherd
& uRd. Hier W ¥ W g M
40 T YYD B

(1) 180 ¥V

(2) 200 J4°
(3) 280 TP
(4) 190 ¥

185. A polynomial in the following is—

(1) 76 -5dx+4/5
@) 22+

B ¥

(@) Jy+5y-1

If the radil of a cone and a cylinder are
inthe ratio 2 : 3 and their heights are in

the ratio 4 : 3 then the ratio of their

volumes will be-

(1) 16 : 27

2} 16 : 81

@) 16:9

{4} 27 : 16

A rectangular piece of paper of length 20
cm and breath 14 cm is folded about its
breath the curved surface area of the cyl-
inder so formed is-

(1) 180 em?

2} 200 cm?

{3) 280 cm?

{4) 190 cm?

o2 Tk WiV SO TRRE D197 @ 5 T 188, If an angle is five times its supplementary

& Ol Ts B B

(54)

angle then the angle is—
(1) 78"

(2) 150"

{3) 144°

(4) 40°

Contd.



189, MY (y-1) qEUY 2

190.

191,

192,

163
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PSS & O K &1 A &
(1) —6

(2) 5

(3) 2

(4) 8

afg fRg 7o o § 0

g T B B Al oy
P A &
(1) 90°
(2) s0°
(3) 20°
(4) 40°

Az A ABC UF e @y e & 191

fores ZC=110" o frfefaa 4 9 @h=
o UF FYH G 2

{1) AB=AC

{2) AB<AC

(3) AB>AC

(8) AB<BC
uﬁmmﬁra‘rﬂrﬁﬁﬁmw
T & s S egeedl @l AN S Bl
CR- GO o

Sird 4 Cnsd

Tlﬁ S5cos.d -125ind=0 Seond — S

A §E feT—
1 35
@)

17
(3) E

w
(4) 1

190.

192,

+T 193,

(55)

ket 4 11x—6 T T 189. The value of K for which (x—1)is a facter

of the polynomial v* _ i + 11— 6 i8—
()-8

(2) 5

(3) 2

(4) 6

If in the given figure

‘C'is the centre of the
circle, then the value

of x is-
(1) so® A1
(2) 50
(&) 20
(4) 40°
If A ABC is an obtuse angled triangle in

which sc=1i0* then which one of the
following is true-

(1) AB=AG
(2) AB<AC
(3) AB=AC
(4) AB<BC

The number 50 is divided into two parts
such that the sum of their reciprocals is
% then these parls are—

(1) 30 and 20
(2) 10 and 40
(3) 25 and 25
(4) 15 and 35

Given Scosd-128ind=0
Sind 4+ Cosd

evaluate—

Contd. .~



184,

~.|'a+x+-.,m—x

:ﬂ*—x—-‘iﬂ“ﬁ‘

forfalaa 4 'x' 8

{4} b+

e

afe luglljug*ﬁog fﬁ:tl A x B AA 8- 495,

(1) 18

(2) s
(3) 64

(4) 32

=b 1g4.

F+ X +1|‘ﬂ' X

'y in the following is m
2ah
{1 )
2ah
@ =3
e +h
() 5=
(a) #'+1

“Zab
If tog [h‘,ﬁ,4 log »' )]: ¢ then the value of x
ig-

(1) 16
(2) 8
(3) 64

(4) 32

196. TP WEY B WKW SIEET 8000 #1196, The present population of a city is 8000 jf

197.

PNP-NTS-2018

afe o A ¥ gEd 10% P IfF ein
fgha ad # o 20% gfE oxlt a1 @)
a4 TYER] S gnf-

(1) 12400

(2) 14400

(3) 10560

(@) 39 9 FE =

it increases by 10% during the first year
and by 20% during the second year. then
population after two years, will be—-

(1) 12400
(2) 14400
(3) 10560

(4} None of these

| 1
TR g 70 = g5 A — 4 +; HIHA B 197. If 50 — 79 =35~ then ifa]ueof—+;+~ ig:

P q

(1)1

(56)

(1) 1
@) —
@o

) >



108 fprdl 2ffe @ wos ¥ 100 AleX $ars W 198. The angle of elevation of a cloud from a

flerr ver g A el a1 9=
o1 30° AR ol # gwd ufafem &
TR BI9T 60° AT AT | NS F WA
H aed ) FEE B-

(1) 100 W
(2) 50 #t

(3) 200 #AY
(4) 150 #Y

199. 8 BEI @ [F UYF @ WA (3NE) 190,
mmzﬁﬁ‘r%m’rm fore Farai
FHA 143 DA T 156 VAT B, AR o W@

% | =9 TPR GHF @ T "y (i)
2

(1) 151.5 ¥
(2) 115 =
(3) 152 |
(4) 200 ¥4

. r
200, Eﬁ'”'g‘; 3, WEl p R g e wE 200,

arrog quiiep B, T g # A -
{1) 1o
(2) 3
(3) 1
@) o

PNP-NTS-2018 (57)

point 100 metre above the surface of a
lake is 30° and the angle of defression of
its image in the lake is 60°then height of
the cloud above thelake is-

(1) 100 m.
(2) 50
(3) 200 m.

(4) 150 m.

The mean height of group of 8 students is

152 cm. Two more students of heights 143
cm and 156 c¢m join the group. The new
mean height of the group is—

(1) 151.5 cm
{2} 115 ¢m
(3} 152 cm
{a) 200 cm

If 06= f where p and q are relatively
prime integers, then value of g is—

(1) 10
(2) 3
(3} 1

@) 9



